V.ordsd psuesés

[1], creols towo s ot slos So povetoe, oowesy wrdsd pswpsts esSose So epls
Sows tsld psSuse TUW Taws op ouwe - So TUWY 9 BT SS peuese wldsle 11,05 So opo wo lg
PSS 00 paupest wldilogn op g3 ¢ bde luwe: «ldesd towo» o «ldbde dwst» W wldsloge
|,_).uo So plu&s Q.)lJ.).

covSJlo lsy Loyw

lol 59 1Jesd So towo lowe 9 B0 wldsle lpwe: tiwo pbdd shs seus slewes s bde So dost love
seus le sl vet

lso wsld lueds psplus lso wlj @oliss opwe g pl shhspe Llo Sl lgveole psysse SEOS wSssspe So
lJesd g [dbde. o e0d: slee luwe sl ule lpwe s sleo lpwe sl povote luwes slzo luve sl pole
|uuu¢ |J&).J C()“U-&

L To byu psSssss Idbde dost: bde tle love: o) by, bdes tile love: to sswbe o ,Suvese
wo lsy rgol wyliss So bde seus tule- €2d SEUS ot S 90 0p £0J lpww.

lJeS,90 £5d Ig loJpet

Go JlJ ,0.55.;)5)? IJlo PJJBO &_)J |u.uo sl J'oJ,o |uuo? JlJ ‘oJ)go (Pl J)lp SS |J' lso J9 ol (.9)')
PS5 So psSsss pauest wlsle Tuwo 9 ot £3d 5 bde lowet bde 1S, esuese bt luve s

ST op i Woplsyn tolrel2] wo peols Tile luwe: eSus0 £3J psyvss. Tldl pSge. <supe lJunss
IS pypeeo» o’ «legble SJ s c(j:c(j;» oowet Yo. lsu bgy,s vspve. pdloduy lpwve 5 S VE
olesds lpwe. to o SL Suset

[1] p0 eduwo v Bdo: whsE YY1 -/ 1rav

[2] Il £ 0@ o3l ldued Idzhe lol 1o Jl ssuess wle, Slisy eds taseo 5 os piod tuIds lduwlos s
IJolse s lel [0 ssued 5 05 duwelo towo s dwst Sldzovo ol Jl swedd woeds e 5 IJdwst
wtdle. s Idzowo lel 1o Jl sds0 Jo suecs Slss eds Towoe 5 s Idpclt s suowe “loe el I ez Bso
eds 1Jssed s 1desd s lel 10 $Js0 Jo supcd Sliss eds tovoe Slel 1o sowetd IJest wsedo 5 1Usp
weudo 5 09 Idslee Is suwertd Iest wiedo s Jl swedd wesdo de 5 05 ldpussw ls suwetd It
cosde 5 Jl swedd widedo e s o5 Idedise 8> l0duwe IJzuwo [Js Iledle 1dLoes 1Uslee s
lIJeossw s Idpole 5 1deduse 5 pe IJdost wods Ilicdle [Jeowos s lddosts teows(Jgucs 1Jpls
s gt wus? Idlewdl f (0302-Y-v)



clhivsos #1
lsel> ywso 16 pl,gw 2025 16:29:46 wopwb ... .
wo g juuwlus gwse 16 pl,gw 2025 16:30:27 wywb ... .



